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Deal with one of the following three subjects:

First subject :

There is no doubt that memory is correlated to the brain.

1- Explain this opinion and state the problematic it raises. (9 pts)
2- Discuss this opinion in the light of other theories related to the

nature of memory. (7 pts)
3- Do you believe that the good memory is the one that retains everything?

Justify your answer. (4 pts)

Second subject :

""To philosophize nowadays, in a useful way, one must be, at the same time, a
mathematician, a physicist, a biologist, a psychologist, a linguist, a historian..."

1- Explain this judgment of Rivaud and state the problematic it raises. (9 pts)
2- Discuss this judgment by showing that philosophy has a certain peculiarity apart

from all sciences. (7 pts)
3- If science is a privilege for some people, can we say that the same is true for

philosophy ? Justify your answer. (4 pts)

Third subject: Text

"Labour didn’t appear in the history of humanity until the number of people multiplied, to
the extent that the spontaneous fruits of nature were no more sufficient. Some of them died
because the conditions of subsistence were unavailable, and many others would have died, if
they didn’t start cultivating the land. And, in as much as the number of population multiplied,
new areas of the forest had to be cut, reformed, and planted. Throughout all the stages of its
history, humanity had resorted to labour only under the threat of death; if each human group
didn’t ensure new resources, then it would be subject to extinction. On the contrary, the more
people multiply, the more labour they have to initiate, which is more difficult and of no
immediate productivity. In as much as getting the necessary substenances becomes more
difficult, the impact of death becomes more dreadful. Labour on the contrary, should increase
intensively and utilize all the means to become more prolific."”

Michel Foucault, Les Mots et les Choses, 1966.

1- Explain this text and state the problematic it raises. (9 pts)
2- Discuss the ideas of the text by focusing on the social and moral necessity of labour. (7 pts)
3- Do you believe that material benefit is the only result of labour ? Justify your answer. (4 pts)
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